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9 Module-1

= . N\ 11 1(drY

= 1 a. With usual notations, prove that =5+ ==- (06 Marks)
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B b. Fthe curve y* = = (06 Marks)
2 vy

= c. Forthe curve 6=—+r’—a (08 Marks)
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<~ 2 a. Find the angle between the curves r & Y (06 Marks)
o .

g b. Find the radius of curvature of the curwv (06 Marks)
[

1§ c. Find evolutes curve y* = 4ax as 27ay? (08 Marks)
g o Module-2 .

g 1 N X < o .

Gl 3 a. Obtain Maclaurin’s expansion of {;e‘a“\f* upto the term-containing x*. (06 Marks)
Q 1 & £y \ \,&u 5]
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2 b. Evaluate It (— (06 Marks)
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?; c¢. Find the extreme values: (08 Marks)
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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

2 $
b.  Find the area bounded by the ellipse 52— +Z—2 =1, above x-axis. (07 Marks
a .
. . I'mI'n )
c.  With usual notations, prove that f(m,n) = . (06 Marks)
m+n



10

- ox'+ 15y +2z =72 . Carryout three iterations.

OR

—2)(—2— dx dy by changing the order of integration. 07 Marks)
+Yy
b ?) dx dy by changing into polar coordinates (07 Marks)
(06 Marks)
Module-4
(07 Marks)
ctoties to the family of curve, Y3 i=4ax . (07 Marks)
Solve d—y+Z =y*x. ‘ (06 Marks)
X X
\/
(07 Marks)

A body orlgmally at 80°C cools down 10 60 C in 20 minutes, the temperature of the air

fthe body after 40 minutes from the original?
(07 Marks)

o (06 Marks)
Apply Gauss-elimination) method to solve the =-5, x+y-6z=-12,
3x—y-z=4. D (07 Marks)

-1 0
rgest eigen value and corresponding eigen ve! —1] by

2

Gwer method. Take initial eigen vector [1,0 0]". Carry out fiv ;
(07 Marks)
OR s
consistency and solve the system of equations, Xx+y+z=6, 4+2z=35,
Dia

. . =1 B
Diagonalize the matrix [ 5 4jl.
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